A) B) C)

Chr11 Old - Healthy centenarian Chr11 All chr

. “ Old - Healthy centenarian Old — Healthy centenarian
0.1 i . 12.5
- LY
I 13 ot 10.0 9
f'.‘c‘ o WO ‘:' 2,5 ‘?,
001 ; % 0 -| 2 56
& of 0% o a 5.0 [a]
-0.1 a 25 ’
’ OO Ll L] L) 0
-0.2 0.0 0.2 -0.2 0.0 0.2
100 Mbp Log fold change Log fold change
[2]
E .
5 Unhealthy centenarian - Unhealthy centenarian —
2 Healthy centenarian Healthy centenarian
E 10.0 10.0
5 0.1 75 > 7.5
Y— = =
o ) 2
[0) & 5.0 g 5.0
= 0.0 + - o e
S 25 2.5
<
5 -0.1 0.0 0.0
% ’ -0.2 0.0 0.2 -0.2 0.0 0.2
= Log fold change
o Log fold change
o
4
Unhealthy centenarian - Old  Unhealthy centenarian - Old
12.5
0.1
10.0
> >~.9
275 =
=4 =
0.0 + - 8 5.0 8 6
25 3
-0.1 0.0 0
-0.2 0.0 0
Log fold change -0.2 0.0 0.2
0 50 Mbp 100 Mbp
— A em—)) e Btg fold change
° ° ° ° °
A1 A2 B1 B2 ® B3 — B2 w3 em— B4
D) Old - Healthy centenarian E) =] o o
o 3 £ 39 S
g & S o8] s &
S o e S
- € o T So oD
c3 S £028 - £9
._g‘g_ n O £381
£ zEn 2™
1%2] —
29 < Q- @ 8L
Z90 o Zz < < O
g~ 38 Q 38 Z %o
=R S S g 21
1000 1500 2000 2500 1000 1500 2000 2500 1000 1500 2000 2500
cfDNA signals in 100kb regions in old  cfDNA signals in 100kb regions in cfDNA signals in 100kb regions in
Unhealthy centenarian - ° healthy centenarian <l unhealthy centenarian
Healthy centenarian o B g, o5,
s ° g « S5
=1 o =} S2o
38| g |58 g |33
ne N £ °N 4 P
ges ' s " £38
8821 ; 525, : 288,
<@ 22 < £
g 8 s °g 28
5 <1 Q 21 TS +=1
° g
1000 1500 2000 2500 1000 1500 2000 2500 1000 1500 2000 2500
) cfDNA signals in 100kb regions cfDNA signals in 100kb regions in cfDNA signals in 100kb regions in
Unhealthy centenarian - Old in unhealthy centenarian unhealthy centenarian unhealthy centenarian
P F) Pearson’s correlation of 100kb spanning regions
) Young old Healthy centenarian Unhealthy centenarian
Young 0.553 0.603 0.494
old 0.939 0.944
Healthy centenarian 0.902
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